Abd 8 A A

2015HE RO 4 QUHs| KB A DY SHHE D

SM: MBS D

Hau: L=NEA

Sl o= B CER-ED

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2

MEAt DA SO 2 781,891,030 750,108,902 31,782,128
= 668,902,378
Xl 1,623,000
J| 2,222,904
< 109,056,048
£ 86,700

Lo=Exsd 521,637,246 392,006,735 129,630,511
=2 462,825,498
= 58,811,748

LoEXx 54 521,637,246 392,006,735 129,630,511
= 462,825,498
& 58,811,748

LoOBESHEEIS 2HXNE 786,136 606,496 179,640
= 373,068
= 413,068

307 2Iz2t0| A 786,136 606,496 179,640
= 373,068
o 413,068

10 M SXNANEEHESIGHEX 786,136 606,496 179,640
OLoESEHIIX 2Y 578,010
= 289,005
& 289,005
OLolsjueAg s XA 40,000
Osttimloi =0 28l 24 N 168, 126
= 84,063
& 84,063

Iz 2 449,403,678 318,711,556 130,692, 122
= 431,013,880
& 18,389,798

308 XXIEHSOIA 449,403,678 318,711,556 130,692, 122
= 431,013,880
&< 18,389,798

01 AIKSHHEMNEXZ 449,403,678 318,711,556 130,692, 122
SREL-E 449,403,678
= 431,013,880
o 18,389,798

HE24 LdReAIE XIS 18,824,380 17,620,087 1,204,293
= 14,232,000
=} 4,592,380

101 21 214| 19,800 19,200 600
= 9,900
& 9,900

03 I HL22 XHE 19,800 0 19,800
OkLolgdie M3l 29 19,800
= 9,900
& 9,900




fA: MELDHSHHE
2 Lo=XE
el LosX & (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
201 L2l 13,000 13,000 0
01 At 22l 13,000 13,000 0
OAMSI=XIAIE 22X & 3,000
ORYESA X& 1,500
OSELASXNEZEAMOE RALE 8,500
203 YR =2l 41,950 41,950 0
03 A FAH S Z=AY| 41,950 41,950 0
OM&sdtnds dRF2 3,800
osXEd XA 25,650
O=EXEAd A2 FA 12,500
307 21201 A 10,000 10,000 0
= 5,000
< 5,000
11T ALSI S RAEE = 10,000 0 10,000
OLeldxtel BEHa &It 10,000
= 5,000
= 5,000
308 XXM SOIA 18,709,630 17,535,937 1,173,693
= 14,217,100
< 4,492,530
01 IXNHHBENEES 18,709,630 17,535,937 1,173,693
O=Ql gXel Mg XI& 18,482,230
= 14,217,100
< 4,265,130
OAUONE2Y 298 XA 222,000
OFZNAHH &St 5,400
403 MHXI S S A2 01 & 30,000 0 30,000
01 XXM 22 = 30,000 0 30,000
OAUONE2g &Xdl XA 30,000
St olgl 29 & Lo#AXEA 498,750 448,125 50,625
= 140,625
< 358,125
307 glz2tol & 448,750 448,125 625
= 140,625
< 308,125
10 AL SXNAIEEE2EHEX 386,250 448,125 A61,875
Ot elsl THES AR 29 100,000
Olfgtcolsl =HEs HEXNJAMUEH 2SI 5,000
OZIFZAXNJHdH2SH N 281,250
= 140,625
< 140,625
11T MISAASEX 62,500 0 62,500
OLXNEXRN Hdu=s 15,000




fA: MELDHSHHE
Mo LoI=X =X
gel: Lol=x S CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Of=Ad2U=EMN &84 XA 12,500
OaHSE =X 16,000
OLAXNENAIAS 12,000
O QX3 ESAL LHEM 7,000
403 XSS A=0l& 50,000 0 50,000
01 HXSHMA2LE X 50,000 0 50,000
OUet=lsl HEANXS &5 50,000
SEHLQ XA 1,342,525 1,048,956 293,569
= 1,004,875
< 337,650
308 XXM SOl A 1,342,525 1,048,956 293,569
= 1,004,875
< 337,650
01 IXNHHBNEES 1,342,525 1,048,956 293,569
Ok SsSd=20 5 X&E 470,250
= 313,500
< 156,750
OSsHL SSHEN 28 X 53,100
Ok SsSd=20 2EX& 691,375
= 691,375
O=HEQ FHESIMEAL 120,000
OSHLQ HAHMEII(EIOIHE) &X 7,800
Lo SESMEIA ALY 10,985,334 10,708,538 276,796
= 8,881,170
< 2,104,164
308 XXIEHHSOIA 10,985,334 10,708,538 276,796
= 8,881,170
< 2,104,164
01 AXHHBLEES 10,985,334 10,708,538 276,796
O=AHLQ Atsl2HE - st 142,200
= 126,000
< 16,200
Oko=ss JIEAMtElA 4,303,550
= 3,544,100
= 759,450
Ookolss SEAMHA 6,199,780
= 5,105,700
S 1,094,080
OkolsEs Jl2MdBlA 2 XA (XA 211,854
OL@l &I JbAFMHIA 127,950
= 105,370
= 22,580
J2E X3 4,267,273 4,441,105 A 173,832
308 MtXIEHMSOIH 2,012,773 1,973,105 39,668




AN MEMDB SO Y
HY: Lo=xEd
ool Lo=X B (B9 ®R)
= - = 4 &
SH BB (3H) - NRAE - BAS of 4 o4 il HI RS2
01 UXESHHBLEXS 2,012,773 1,973,105 39,668
OLXNEA &4 16,710
OGAl &2 23 41,775
OLQNIIEZOS W ES 48,000
OZgzzg &8 X& 18,000
OZ2d 243 Z20d 23 167,100
OZ2g 22=5 N& 300,000
OZ2Y ZZ2H2ACAN2E(AZ) 251,488
OZ2g =2gd N2 1,169,700
403 X SHHSAH=01H 2,254,500 2,468,000 213,500
01 HASHH =R x 2,254,500 2,468,000 213,500
OZ2g MsH 1,287,000
O3dzg JIseEd 967,500
AR Rz AAY 709,975 709,975 0
308 X+l EHM S 01 E 709,975 709,975 0
01 X SHHBLEES 709,975 709,975 0
OMASTHIH=Ql AAIBHE 478,647
ORzdz4Ag 29 231,328
Co=Ea 29 A2 930,000 849,255 80,745
308 XXM SOl & 930,000 849,255 80,745
01 XM BaE2ES 930,000 849,255 80,745
Ooko=xa 28 X& 930,000
Mot SX SMAY X 117,000 214,265 A97,265
308 XXM S0l ™ 117,000 214,265 A97,265
01 UIXEHHBLEES 117,000 214,265 A97,265
O0lsZelxt 28 XN& 102,000
Ool2d NAE M XA 15,000
CASTAE JIsE22AE 6,221,700 5,653,329 568,371
=2 3,864,467
& 2,357,233
403 TtXI M SA=01A 6,221,700 5,653,329 568,371
= 3,864,467
< 2,357,233
01 HXSHHG=EE 6,221,700 5,653,329 568,371
OLSIAE JISsEZAY 5,796,700
= 3,864,467
S 1,932,233
OL=SXAE JIsEZAY 75,000
OLoAE aF X3 350,000
QI I A 294,400 371,660 AT7,260
= 294,400




fA: MELDHSHHE
2 Lo=XE
el so=X EA (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
403 MtXISHHE =01 & 294,400 371,660 ATT,260
= 294,400
01 XM A=2E X 294,400 371,660 ANTT,260
Osdstdd e XN 223,900
= 223,900
OZ2F3&E MHE> X 70,500
= 70,500
LoEXAE X3 17,510,867 21,707,074 A4,196,207
= 372,549
< 17,138,318
201 LB-2g| 5,862 0 5,862
01 At 22l 5,862 0 5,862
OLQ=EXAE B =2 5,862
307 21201 A 69,000 67,000 2,000
05 RIZt2IE = 30,000 30,000 0
OEg LoUAE 22298 N 30,000
10 AL SXNAIEEE2EHEX 39,000 37,000 2,000
OLQIME(THIHAIE SALR E+W= 9,000
O dEAd HEA L SALA &0t 3l 15,000
OMItHZ 4 AHE=HM 0tE 3l 15,000
308 XXM SO0 A 17,436,005 21,640,074 A 4,204,069
= 372,549
< 17,063,456
01 IXNHHBNEES 17,436,005 21,640,074 A 4,204,069
OLQIMEALE AIQAEE XNA(ANE2A) 10,807,201
OLQMEANE SSAN 2SN 835,001
ORs AN 2SI (2L FHMY) 355,632
= 315,117
= 40,515
OMIMLAHIQLAEE XA(MIHSH) 4,658,509
OMIMI-AXNZAMEIA 2L 690,000
OMMNEI A2 XS AS] X2 HHALS 74,662
= 57,432
< 17,230
OZFF= AMElstel dA, 23aHHE 15,000
Z2Y ety 5,296,928 6,667,274 A~ 1,370,346
= 2,648,464
< 2,648,464
308 XXM SOIA 5,296,928 6,667,274 A 1,370,346
= 2,648,464
< 2,648,464
01 IXNSHHBANEES 5,296,928 6,667,274 A 1,370,346
OoZzg ted X& 5,296,928




fA: MELDHSHHE
Mo LoI=X =X
ool Lo=X B (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 2,648,464
< 2,648,464
d=EH2E 29 681,300 1,181,000 A 499,700
308 XAHXIEHH SOl 606,300 641,000 A 34,700
01 HIXNHHBNEES 606,300 641,000 A 34,700
Ood=zd24g 2324 29 280,800
Oog=a3dz2g 27424 324,000
O¥=Z=2Y FHFH XN 1,500
403 MRS E X201 & 75,000 540,000 A 465,000
01 XM A=2EE 75,000 540,000 A 465,000
Oo¥=3dz24d 3= 75,000
SNEH HEMA A L o 45,000 45,000 0
201 Let24d] 45,000 45,000 0
01 At 22l 45,000 45,000 0
O=sXda8=20F ML= 29 30,000
ONSADNASIHMZOF HHEA 2F 15,000
S3EE Lo HE 3,722,000 727,600 2,994,400
401 AIEHI L 2CHYI 3,722,000 727,600 2,994,400
01 A& HI 3,600,000 727,600 2,872,400
O=EEL osla Ag 3,600,000
02 Zteltl 110,000 0 110,000
OsdEEE Losla HE 110,000
03 A& =2 I 12,000 0 12,000
O=&dEL g2 A 12,000
MEd I 58 S8 &9 2 gd 254,862,312 353,009, 624 208,147,312
= 205,987,380
< 48,788,232
£ 86,700
220t ESAMHA J|gE &S 254,862,312 353,009, 624 298,147,312
= 205,987,380
= 48,788,232
£ 86,700
ogod == 135,000 1,055,892 A920,892
= 90,000
< 45,000
403 XIS E X201 & 135,000 1,055,892 A920,892
= 90,000
< 45,000
01 AXSHHMA2E = 135,000 1,055,892 920,892
Oooaold == 135,000
= 90,000
= 45,000

(o))




2AHd: NS0 SHHH Dt
MY HEM 222 S8 40 I
o R0 ESAMHA I8 2E EEREEED)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
Helolglgdstsd 299 330,000 330,000 0
307 2Iztol ™ 330,000 330,000 0
05 RIZHRI &t 3 330,000 330,000 0
Ongoledstsd 293 330,000
28 S:AMAY X2 9,538,602 8,998,060 540,542
308 AXIEH S0l 9,538,602 8,998,060 540,542
01 IXNSHHBNEES 9,538,602 8,998,060 540,542
Og®0ot 2 - 2t4alHl K& 1,552,500
OXloL sgE=E 29 A& 38,760
OE=5d 2¢dl XN& 7,200
O0eold B ML 4,355,460
O&IIelE el old w2 108,542
Odiels QZAHE 0l HEEFEZ 1,000,000
O&IIelE Heold Es=<201 K& 1,881,600
OUAM A &8I (XHA) 72,000
OFMOIEE Helold 29 XA 25,740
OEIteIE Helold Joter Es WAL 2
i 496,800
SSDAN 24D 97,624 97,624 0
= 48,812
< 48,812
307 2Iz2t0ol A 97,624 97,624 0
= 48,812
< 48,812
05 RIZHRI &3 97,624 97,624 0
OE=suid E=u= 97,624
= 48,812
< 48,812
250 A XA 25,000 19,800 5,200
307 21201 A 25,000 19,800 5,200
04 QIZFHALAIR B = 25,000 19,800 5,200
OE=e¢l sotsisl 15,000
Of+=EZ20d & WP EotHs 5,000
OESNAA A3 5,000
SE=S0SENJAUH 29 346,000 619,160 A 273,160
= 156,000
< 190,000
307 2Iztol ™ 346,000 619,160 A 273,160
= 156,000
< 190,000
10 M3 SXNANEHIS2IHEX 346,000 0 346,000
SESEHNAEH 29 312,000




fA: MELDHSHHE
MY HEM 222 S8 40 I
& R0 EFMHA JIg &5 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 156,000
< 156,000
OSEROIBEXNAHNH iz 34,000
el ol wiHw 2l 569,067 533,000 36,067
= 399,282
< 169,785
308 XX EHH SOl A 569,067 533,000 36,067
= 399,282
< 169,785
01 X HHILEES 569,067 533,000 36,067
O old Wi w-Hl 519,067
= 399,282
< 119,785
O old i & H37LHl 50,000
Helold Xt&2Fl 740,808 774,156 A 33,348
= 569,852
< 170,956
308 XtXIEHH SOl A 740,808 774,156 A 33,348
= 569,852
< 170,956
01 AXHHIYEES 740,808 774,156 A 33,348
Oogold X294l 740,808
= 569,852
S 170,956
ooy eZid 1,752,110 1,641,000 111,110
= 1,034,740
< 717,370
403 A X EHHSH20IA 1,752,110 1,641,000 111,110
= 1,034,740
< 717,370
01 XM A= LE L 1,752,110 1,641,000 111,110
ongolsd &#ZHd 1,552,110
= 1,034,740
= 517,370
Oogold JIs2d 200,000
EsssAMHIA 31,957,837 31,659,748 298,089
= 24,495,612
= 7,462,225
307 21201 A 324,404 0 324,404
= 162,202
= 162,202
10 M2 SXNANEHE2IHEX 324,404 0 324,404
O A 2124l 324,404
= 162,202
< 162,202

oo




fA: MELDHSHHE
MY HEM 222 S8 40 I
& R0 EFMHA JIg &5 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
308 XXM SO0l A 31,633,433 31,659,748 A26,315
= 24,333,410
=) 7,300,023
01 IXNHHBNEES 31,633,433 31,659,748 A26,315
EsSsSAMHA 31,633,433
= 24,333,410
< 7,300,023
LN 51,393,430 55,626,022 A4,232,592
= 44,246,000
= 7,147,430
308 XtXIEHH SOl A 51,393,430 55,626,022 A4,232,592
= 44,246,000
< 7,147,430
01 AXHHILEES 51,393,430 55,626,022 AN4,232,592
OoXtg === XA 51,393,430
= 44,246,000
< 7,147,430
ZOHOtEE S3HH 5,250 25,500 A 20,250
= 3,500
< 1,750
403 X SHHSA=0l& 5,250 25,500 A 20,250
= 3,500
< 1,750
01 X SHMA=E X 5,250 25,500 A 20,250
OXOL Ex&F A 5,250
= 3,500
< 1,750
R0 E52 A& 147,464,381 242,447,363 N 94,982,982
= 126,869,868
< 20,507,813
£ 86,700
308 XXIEHHSOIA 147,464,381 242,447,363 A 94,982,982
= 126,869,868
< 20,507,813
£ 86,700
01 AXHHBLEES 147,464,381 242,447,363 A 94,982,982
Ogxrot 282 XA 147,364,091
= 126,869,868
< 20,494,223
ogn=zs 252 XA 100,290
< 13,590
£ 86,700
33800l K& 3,135,595 2,990,000 145,595
= 2,411,996
= 723,599
308 XXM SOIA 3,135,595 2,990,000 145,595




fA: MELDHSHHE
MY HEM 222 S8 40 I
Sl R0 EBEAHIA I8 25 CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 2,411,996
< 723,599
01 AXHHIYEES 3,135,595 2,990,000 145,595
OZ238g0eo0ld XN 3,135,595
= 2,411,996
= 723,599
DAZREMNA 7,186,601 6,115,056 1,071,545
= 5,528,155
< 1,658,446
308 MtXIEHMSOIH 7,186,601 6,115,056 1,071,545
= 5,528,155
= 1,658,446
01 HXNHHNBHEELS 7,186,601 6,115,056 1,071,545
OunAIZSEZ LI 6,990,734
= 5,377,488
< 1,613,246
OsHELM HEold X3 195,867
= 150,667
< 45,200
22 2UHEY 29X 80,911 77,243 3,668
= 61,835
= 19,076
307 21201 A 1,500 0 1,500
= 750
= 750
11T A SXAIEE = 1,500 0 1,500
SRILIHEE AFSEIL 1,500
= 750
< 750
308 XX EHSOIA 79,411 77,243 2,168
= 61,085
< 18,326
01 HIXNHHBNEES 79,411 77,243 2,168
Of2 2uHEd 249 X& 79,411
= 61,085
< 18,326
ML SEEFAIEALS 104,096 0 104,096
= 71,728
< 32,368
307 21201 A 31,000 0 31,000
= 15,500
< 15,500
10 ALSISXAIEEE2GHEX 31,000 0 31,000
OANZIEE ESAY el 23 31,000
= 15,500
= 15,500




fA: MELDHSHHE
MY HEM 222 S8 40 I
& R0 EFMHA JIg &5 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
308 XXM SO0l A 73,096 0 73,096
= 56,228
< 16,868
01 IXNHHBNEES 73,096 0 73,096
OAMZUAINSEESAE AL 73,096
= 56,228
< 16,868
MEA CH =& 5,196,112 4,944,183 251,929
= 82,000
Xl 1,623,000
J| 2,222,904
= 1,268,208
M4 & =2 5,196,112 4,944,183 251,929
= 82,000
Xl 1,623,000
J| 2,222,904
< 1,268,208
CHRHA2EHOIE g 4,000 4,000 0
201 Let2d] 4,000 4,000 0
01 At 22l 4,000 4,000 0
OUXH 2EI}HE &Y 4,000
HeZoe s4XIAS K& 47,400 52,930 25,530
= 42,000
< 5,400
308 MtXIEHSOIH 47,400 52,930 25,530
= 42,000
< 5,400
01 HXNHHNBHEELS 47,400 52,930 25,530
OdgEMe s&50F X 47,400
= 42,000
< 5,400
ool gDl E2M4a Xd2s28 N3 80,000 80,000 0
= 40,000
< 40,000
307 glz2+ol & 80,000 80,000 0
= 40,000
= 40,000
02 It M AMHEE 80,000 80,000 0
OO0l IESHMYE sE2s=2% & 80,000
= 40,000
< 40,000
SHEGE MBI EES /S B 57,000 15,000 42,000
307 21201 A 57,000 15,000 42,000
02 QB AAGFEX 57,000 15,000 42,000




HEMDE S0
MEL X =&
HEM U2 =X SR
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Ostal st " Ag 2 L8 E 78t 2 15,000
Oflegyd e Z2RE 30,000
O%EE 7N 12,000
ANE2Al =8 X & 1,976,286 1,811,944 164,342
J| 1,411,633
< 564,653
308 XtXIEHHSOIA 1,976,286 1,811,244 165,042
J| 1,411,633
< 564,653
01 AXHHILEES 1,976,286 1,811,244 165,042
OM=& Al=Hl XI& 1,458,274
J| 1,041,624
< 416,650
OelZ3+3d Alsdl XI& 518,012
J| 370,009
= 148,003
AMTZ AR 12,631 12,833 A 202
J| 8,421
< 4,210
308 XXIEHH SOl A 12,631 12,833 A 202
J| 8,421
< 4,210
01 XML EES 12,631 12,833 A 202
OZ2X=Ed+=8 M& XN& 12,631
J| 8,421
< 4,210
SHSUAOIAZA 2 Eot2tel 389,700 389,700 0
J| 259,800
< 129,900
308 MXIEHSOIH 389,700 389,700 0
J| 259,800
< 129,900
01 HXNHHBHELS 389,700 389,700 0
O&dd A& E A ¥ S0ttt 389,700
J| 259,800
< 129,900
OO0t A A0l&f0F 2 =Hl K& 727,800 727,800 0
J| 485,200
= 242,600
308 XX EHH SOl A 727,800 727,800 0
J| 485,200
= 242,600
01 HIXNHHNBNEES 727,800 727,800 0
O0l=0t & ddH0la0t 9 =H X 727,800
J| 485,200
= 242,600




fA: MELDHSHHE
M MEsA M =&
ool HEM M EX (S5 &)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
AMOtHE =M H 33,675 33,705 A 30
bl 22,450
< 11,225

308 XAHXIEHH SOl 33,675 33,705 A30
J| 22,450
< 11,225

01 IXNHHBNEES 33,675 33,705 A 30
OAI MO H2AHdHEH A 33,675
J| 22,450
= 11,225

MSAMOLE R0 K& 1,814,520 1,763,171 51,349
Xl 1,623,000
< 191,520

307 21201 A 23,400 23,400 0
Xl 23,400

05 RIZt2IEt = 23,400 23,400 0
O&2 Aot &0 nsXA 23,400
Xl 23,400

308 A EHHSOIA 1,791,120 1,739,771 51,349
Xl 1,599,600
< 191,520

01 HXNHHNBMNEELES 1,791,120 1,739,771 51,349
O« Aot E01 XN2AY 1,791,120
Xl 1,599,600
< 191,520

FAaE M2 AASA = H X 53,100 53,100 0
J| 35,400
< 17,700

308 XXM SO A 53,100 53,100 0
J| 35,400
< 17,700

01 IXNHHBANEES 53,100 53,100 0
OFAaY &2 PAEL olgH X 53,100
J| 35,400
< 17,700

2UASH SEAE AF 90,000 43,000 47,000
= 7,500
< 82,500

MEFH T2 U MUAM HA 60,000 43,000 17,000
= 7,500
= 52,500

MBZSZIM QAHAXNAMA 2= 60,000 43,000 17,000
= 7,500
< 52,500

201 Let2dE] 25,000 25,000 0
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